SEAE HEXRH B EZ A& 2022FEEARABRE s = 2021 FEEASAGER
- - N = Py O E-=-3
X P |emxs| ww mowon| 2| 2|2 EED sese zon |BR-FRE@R-B -\ B B8 AB e maes| B | B |
*RSES % | £ |X| X | B g2 semarcionssecs | NVRX(FH-BE) -B@E| 5 | R | 5 9 BEE), HB 2o = | = |
S| 8 |alo & Eg zvensues (=HEFERL) - ZDfb S 8 = |z B8 ’ ’ B #H | X
BB | AX 160| 36 Bz L EBH A VS UEIEE W MAEFS0M (OD, BHEH 43 3B 1.2
Go-ias74-% | 90| 20 GE) S 5 BB | 305)) S o EHPRA0E, [EEL60| 17| 12| 1.4
$7788 | A7 47RE | 168] 36 HEEAT GEHOTE—LET 5k A, 312504 72] 6] 120
AEREDP 16 2 GE) A BRBEDP | » O HlfEY L S DR 3 11 3.0
=il | Bk 12| 29 = NHIBEE 7 1 | 7] 96| 51| 1.9
FHLY [ 45 b 64| 11 vIu s s LER 51| 11| 46
ES2707547 +
53749905 53| 9| 59
;;‘vwo 64 14 " 30| 6| 5.0
— i 0gINFH(Y :
(AHE) <FO¥Y e ”24 1113 12.1 | 129 A 2| 20
Gy | 72| 15 ' 20| 6| 33
Tyyval 6 3 2.0
ey 40 8 34| 12| 28
VN |2 vAH
B=bo=0> 4] 6| 23
<Ah=Y=308> 12 2| 6.0
kT H> 282 42 11 2| 55
REIBFEEKRZ <F¢379-D> 9% | 12| 8.0
E@%%_Jbo 7=*x—v3v| 80| 16 o | x| 38 5| 7.6
T606-8588 LIHLKF BB | A3 160| (=) Rzl L HHEoF R (K AL S (@D, Ik
35 0 T 25 K Jo-1zs7-% | 90| (=) o [H B 5 2%E, %4100 B o INISC - BREET v v
o T Y7788 | A7 4 7%B | 168 (=) £+ 7120%) + N (90 C A — DR 2004,
NEREDP 16| (=) 5 In SR 712505
EL R 12| (-) HBHOEF M IHRBR CGE EEE=CEIT -« ELI,
FHE4V | 4S5 R b 64| (—) o @« B 5 2%E, %4100 [ = GE3C -« 3R <)
EV27UFH Y A 3112053 « /NGSC (90 “HB, H=1A
<H574990> 64| (=) ) YT v 3 (18043) GE) RFHRE O FGEA G
<FIHMC> o A A=V KB (1804) 11 Fid, P (94538 o
—_ = VLAY IV n S 1R ' BHICAIE L THRE T 5 .
(gﬁﬁ%? AN Y [11.14] 121 | 129 (ABEEAD)
Sz | 72| (=) 14
Tryval>
B 40| (=)
VR |2 vA
<h=bo=0>
<Ab=Y=T08>
g | 22 =
%¢395-D>
7=*—=Y3v| 80| (—)




